Partitioning Millions into each place value @

Hundred Ten
Million Thousand Thousand Thousand Hundred Ten One

4,176,829 = 4,000,000 + 100,000 + 70,000 + 6,000 + 800 + 20 + 9

Partition each number into Millions, Hundred Thousands, Ten Thousands, Thousands, Hundreds, Tens and Ones

a)
b)
c)
d)
e)
f)
9)
h)
i)
i)

2,465,324 = _2000,000 + 400,000 + 60,000 + 5,000 + 300 + 20 + 4

3,848,767 =

5,487,821 =

4,326,717 =

2,247,224 =

6,749,493 =

1,476,989

6,348,165

2,015,402

5,993,240 =

Write the whole number

k)

m)

n)

0)

P)

)

r)

3,000,000 + 300,000 + 40,000 + 6,000 + 600 + 20 + 5 =

1,000,000 + 200,000 + 00000 + 5,000 + 500 + 20 + 2 =

4,000,000 + 800,000 + 50,000 + 2,000 + 400 + 10 + 6 =

5,000,000 + 600,000 + 20,000 + 0000 + 300 + 00 + 5 =

2,000,000 + 500,000 + 60,000 + 8,000 + 000 + 40 + 3 =

7,000,000 + 200,000 + 40,000 + 0000 + 100 + 40 + 1 =

6,000,000 + 300,000 + 60,000 + 8,000 + 500 + 00 + 2 =

2,000,000 + 600,000 + 70,000 + 5,000 + 500 + 30 + 4 = 2,675,534




Partitioning Millions into each place value

Hundred Ten

Million Thousand Thousand Thousand Hundred Ten One

4,176,829 = 4,000,000 + 100,000 + 70,000 + 6,000 + 800 + 20 + 9

Partition each number into Millions, Hundred Thousands, Ten Thousands, Thousands, Hundreds, Tens and Ones

a)
b)
c)
d)
e)
f)
9)
h)
i)
i)

3,876,707 = 3,000,000 + 800,000 + 70,000 + 6,000 + 700 + 00 + 7

7,473,204 =

6,862,089 =

9,540,645 =

5,605,961 =

3,893,321 =

4,705,083 =

6,895,737 =

8,644,708 =

2,040,203 =

Write the whole number

k)

0)

P)

q)

r)

6,000,000 + 300,000 + 40,000 + 9,000 + 900 + 20 + 3

3,000,000 + 500,000 + 60,000 + 8,000 + 200 + 40 + 1

5,000,000 + 400,000 + 20,000 + 0000 + 800 + 40 + 7 =

9,000,000 + 000000 + 90,000 + 6,000 + 400 + 80 + 9 =

7,000,000 + 200,000 + 80,000 + 6,000 + 400 + 70 + 8 =

2,000,000 + 400,000 + 00000 + 1,000 + 000 + 70 + O =

5,000,000 + 300,000 + 70,000 + 3,000 + 200 + 80 + 6 =

8,000,000 + 100,000 + 40,000 + 5,000 + 400 + 20 + 3 =

6,349,923




Answers

Partition each number into Millions, Hundred Thousands, Ten Thousands, Thousands, Hundreds, Tens and Ones

a)
b)
c)
d)
e)
f)
9)
h)
i)
i)

2,465,324 = 2,000,000 + 400,000 + 60,000 + 5,000 + 300 + 20 + 4

3,848767 = 3,000,000 + 800,000 + 40,000 + 8,000 + 700 + 60 + 7

5,487,821 = 5000,000 + 400,000 + 80,000 + 7,000 + 800 + 20 + 1

4,326717 = 4000,000 + 300,000 + 20,000 + 6,000 + 700 + 10 + 7

2,247,224 = 2,000,000 + 200,000 + 40,000 + 7,000 + 200 + 20 + 4

6,749,493 = 6,000,000 + 700,000 +40,000 + 9,000 + 400 + 90 + 3

1,476,989 = 1,000,000 + 400,000 + 70,000 + 6,000 + 900 + 80 + 9
6,348,165 = 6,000,000 + 300,000 + 40,000 + 8,000 + 100 + 60 + 5
2,015,402 = 2,000,000 + 000,000 + 10,000 + 5,000 + 400 + 00 + 2

5,993,240 = 5,000,000 + 900,000 + 90,000 + 3,000 + 200 + 40 + O

Write the whole number

k)

)

m)

n)

0)

P)

)

r)

2,000,000 + 600,000 + 70,000 + 5,000 + 500 + 30 + 4

2,675,534

3,000,000 + 300,000 + 40,000 + 6,000 + 600 + 20 + 5

3,346,625

1,000,000 + 200,000 + 00000 + 5,000 + 500 + 20 + 2 =

1,205,522

4,000,000 + 800,000 + 50,000 + 2,000 + 400 + 10 + 6

4,852,416

5,000,000 + 600,000 + 20,000 + 0000 + 300 + 00 + 5 =

5,620,305

2,000,000 + 500,000 + 60,000 + 8,000 + 000 + 40 + 3 =

2,568,043

7,000,000 + 200,000 + 40,000 + 0000 + 100 + 40 + 1 =

7,240,141

6,000,000 + 300,000 + 60,000 + 8,000 + 500 + 00 + 2 =

6,368,502




Answers

Partition each number into Millions, Hundred Thousands, Ten Thousands, Thousands, Hundreds, Tens and Ones

a) 3,876,707 = _>000,000 + 800,000 + 70,000 + 6,000 + 700 + 00 + 7

b) 7473204 = 7000000 + 400,000 + 70,000 + 3,000 + 200 + 00 + 4

c) 6,862,089 = 6,000,000 + 800,000 + 60,000 + 2,000 + 000 + 80 + 9

d) 9540645 = 000000 + 500,000 + 40,000 + 0000 + 600 + 40 + 5

e) 5605961 = 5,000,000 + 600,000 + 00000 + 5,000 + 900 + 60 + 1

f) 3893321 = 3000000 + 800,000 + 90,000 + 3,000 + 300 + 20 + 1

g) 4,705,083 = 4,000,000 + 7500,000 + 00000 + 5,000 + 000 + 80 + 3

h) 6,895,737 6,000,000 + 800,000 + 90,000 + 5,000 + 700 + 30 + 7

8,000,000 + 600,000 + 40,000 + 4,000 + 700 + OO + 8

i) 8,644,708

i) 2,040,203 2,000,000 + 000000 + 40,000 + 0000 + 200 + 00 + 3

Write the whole number

k) 6,000,000 + 300,000 + 40,000 + 9,000 + 900 + 20 + 3 = 6,349,923
) 3,000,000 + 500,000 + 60,000 + 8,000 + 200 + 40 + 1 = 3,568,241

m) 5,000,000 + 400,000 + 20,000 + 0000 + 800 + 40 + 7 = 5,420,847
n) 9,000,000 + 000000 + 90,000 + 6,000 + 400 + 80 + 9 = 9,096,489
0) 7,000,000 + 200,000 + 80,000 + 6,000 + 400 + 70 + 8 = 7,286,478

P) 2,000,000 + 400,000 + 00000 + 1,000 + 000 + 70 + O = 2,401,070
q) 5,000,000 + 300,000 + 70,000 + 3,000 + 200 + 80 + 6 = 5,373,286

r) 8,000,000 + 100,000 + 40,000 + 5,000 + 400 + 20 + 3 = 8,145,423




